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B. A. (Pass) 3rd Semester
Examination — December, 2022

. ECONOMICS (MACRO ECONOMICS-)

- Time : Three hours ] - [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.
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Note : Attempt five questions ‘in all, selecting one S
question from each Unit. Question No. 1 is

compulsory. All questions carry equal marks.
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1. Write short notes on the folldwing ; 2%x8=1 5
Rrfefed ox wftra fewfrr ffee
(@) Monetary Policy
AR Ak

(b) Macro Economics
AT ST

(c) National Income
T 3T

(d) Actual GDP
AR SR

(e) Induced Invesfmént
EEGRECH

(f) . Multiplier -

JT
(g) Marginal Propensity to import- ‘
 (h) Balanced Budget Multiplier
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2. Distinguish between macro and micro economics.

Explain lhg importance of macro analysis of an
economy, ' ' 16
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3. Explain the income  method of national income
measurement. What are the difficuldes in the
measurement of national income ? - 16
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4. State and explain Keynes psycholog1ca1 law of
consumption. What are the main implications of the(aj
law ? : 16
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5. What is investment multiplier ? What is  the
relationship between margmal propensity to consume
and multiplier ? . 16
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6. Given:

C=300+0.5Y

T = $200 Crore

I = $100 Crore

G = $600 Crore

(a) Determine the ethbrlum GDP.
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(b) Derive the saving equation and find out the level
of saving in the economy.
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(c) Find the level of cons‘t.lmplion at equilibrium GDP.
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7. Explain how equilibrium of GDP is determined in a
@ three sector closed econbmy ? .16
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UNIT- IV
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8. Analyze the impact of aggregate demand shocks on -
equilibrium GDP and price level. - 16

€D When does the economy achieve long run equilibriﬁm ?
' Explain the impact aggregate demand curve shift and

aggregate supply curve shift on equilibrium GDP and
price level. ' 'l : 16
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